
ISC 2017 analysis of study-solutions

Gurgenidze/Minski  study Nr 3

all correct wrong nothing

1. Bf5+ 223 165 16 42 Bb7 (7x) Rc3 (3x) Rf8 (2x) Rb8 (1x) Rc4 (1x)

Kd6+ 165 139 24 2 Ke7 (24x)

2. Kg6 139 129 10 0  Kh6 (5x) Kh8 (2x) Kg8 (1x) K~ (1x) Td8+?? (1x)

d1Q 129 89 25 15 Ke5 (8x) Rb3 (5x) Rb8 (4x) Rd7 (4x) Rb6 (2x) Rb4 (1x) Ke7 (1x)

3. Rd8+ 89 89 0 0

Rd7 89 82 5 2 Ke5 (3x) Kc5 (1x) K~ (1x)

4. Rxd7+ 82 80 2 0 Bd7 (1x) Re8 (1x)

Ke5 80 79 1 0 Kc5 (1x)

5. Se1 79 74 4 1 Se3 (2x) Kg5 (1x) Txd1 (1x)

Becker study Nr. 9

all correct wrong nothing

1.Sg5 223 77 95 51 Sf4 (59x) Bf1 (14x) Bd3 (10x) Bb7 (9x) Bc8 (3x)

Qa4 77 9 57 11 Qa6 (24x) Qf8 (18x) Qg3 (9x) Qd6 (3x) Qb4 (2x) Kg3 (1x)

2. h8Q 9 9 0 0

Qd1+ 9 9 0 0  

3. Sf3 9 9 0 0

Kxf3 9 9 0 0

4. Be2 9 9 0 0

Qxe2 9 9 0 0

5. Qb8 9 8 0 1

Qd1 8 6 0 2

6. Qd8 6 6 0 0
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1.Sg5 Qa4 2. h8Q Qd1+ 3. Sf3 Kxf3 4. Be2 Qxe2 5. Qb8 Qd1 6. Qd8
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1. Bf5+ Kd6+ 2. Kg6 d1Q 3. Rd8+ Rd7 4. Rxd7+ Ke5 5. Se1

nothing

wrong

correct



Selezniev Nr. 5 (cat-2)

all correct wrong nothing

1. Lf2 116 51 28 37 Lc2 (20x) c7 (5x) cxd7 (2x) Kf3 (1x)

Sf3+ 51 41 6 4 dxc6 (3x) Se3 (3x)

2. Kh5 41 26 15 0 Kg3 (9x) Kf4 (3x) Kh3 (2x) Kg2 (1x)

Sxf2 26 25 0 1

3. c7 25 25 0 0

d1D 25 25 0 0

4. c8D+ 25 25 0 0

Kh7 25 24 0 1

5. Dxd7+ 24 24 0 0

Tavariani Nr. 11 (cat-2)

all correct wrong nothing

1. b5 116 57 29 30 c7 (21x) Kh6 (4x) Kg6 (2x) Kg5 (1x) Kf7 (1x)

Lxb5 57 32 24 1 Lc8 (24x)

2. c7 32 32 0 0

Le8+ 32 13 8 11 Le2 (5x) Sf7 (2x) Se6 (1x)

3. f7 13 8 5 0 Kh6 (5x)

Lxf7+ 8 7 0 1

4. Kh6 7 6 0 1

Danilyuk Nr. 6 (cat-3)

all correct wrong nothing

1. Td2 143 84 29 30 Tb8 (22x) Se6 (3x) Se4 (1x) Kb4 (1x) Tc8 (1x)

Kb1 84 68 11 5 Kc1 (7x) Ka3 (2x) Kb2 (1x) Ka2 (1x)

2. Se4 68 58 10 0 Kc3 (5x) Kb3 (3x) Tc2 (1x) Sf3 (1x)

c1D+ 58 54 4 0 Kb2 (2x) c8D (1x) c1S (1x)

3. Sc3+ 54 50 1 3 Kb3 (1x)
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1. Lf2 Sf3+ 2. Kh5 Sxf2 3. c7 d1D 4.
c8D+

Kh7 5.
Dxd7+
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1. b5 Lxb5 2. c7 Le8+ 3. f7 Lxf7+ 4. Kh6
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1. Td2 Kb1 2. Se4 c1D+ 3. Sc3+

nothing
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correct


